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ABSTRACT

At present, there are many types of student transportation services. There are a
number of institutions, whether public or private. Due to the large number of domestic bus
services, it is necessary to take into account many factors such as safety, time of receipt and
delivery, cost of vehicle deterioration. And because of the business of sending and receiving
students, it is important for entrepreneurs. Transport operators need to be aware of the
importance of managing the transportation system so that transportation is more efficient to
enhance customer satisfaction.

This case study Evolution using variances in transport routes in case studies. Pathum
Suksa School The use of heuristics for routing is a cost-effective way of sending and receiving,
with 886 students per day and 45 total points. Differential Evolution Algorithm is used by only
one type of vehicle: air-conditioned buses with a capacity of 55 people. Differential evolution
algorithm using differential bus The shortest distance with a total distance of 1,046.4 km and
total cost of transportation is 208,458 baht per month.

The study found that. How to Evolve using Differences To solve the problem, the route
can be reduced to 412.24 kilometers per day, or 12,367.2 kilometers per month. The number
of routes decreased by 2 routes and reduced costs by 16,500.92 baht or 20.09% compared
to the efficiency of saving. In the table, it is clear that DE is superior. The distance traveled
was 2,484.9 kilometers. The route decreased 2 routes and costs decreased 17,921.81 baht or
20.09%. The test results with the problem is that the Differential Evolution (DE) developed
using Excel 2010 and Dev. C ++ can find the answer to both small and large problems. Take
a quick look at the answers. The researcher will develop the program to solve the problem
of the case study to reduce the cost of transportation. Other costs get the lowest.
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